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1. Answer any five of the following questions: (2x5=10)

a) What does the Simple Keynesian Model deal with?
IE (PR NCCAB I T AT FC2

b) What is the relation between propensity to consume and propensity to save?
o1 AN @R T HIOR N I TF?

c¢) What does liquidity trap mean?
SR TW IACe I @RIA?

d) What is speculative demand for money?
FioFE Sweey wedd oifzAl 2

e) What do you understand by stability of equilibrium?
SRANE ZIRg Jece I @R?

f) What do you mean by High Powered Money?
TH FANOITE Y A0S I [@RI?

g) When will the IS curve be parallel to the vertical axis?
TN IS @R T SCHA NS R(A?

h) Define LM curve and draw it.

LM@Y A8l 18 3R T I als|
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2. Answer any four of the following questions:

a)

b)

d)

f)

3. Answer any one of the following questions:

a)

b) What is the slope of LM curve? Discuss the effects of rise in money supply on the LM
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Define Keynesian consumption function. State the basic properties of the Keynesian

consumption function.
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What is Balanced Budget Multiplier? Is the value of Balanced Budget Multiplier
always equal to one? Give your views.

AN JCCH @lF [F2 AN ACHE QAT WA F AN QFF AN
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What do you mean by money multiplier? Explain the factors that determine its
value.
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4|

What do you understand by involuntary unemployment? Examine the Keynesian
views of labour market.

SRS TG @00 Pl @2 AN G TP R
Torve e w4l

What is Commercial Bank? Explain how the commercial banks create credit.
Jffens e e Afdfens e Freig A9 jJB Fea o G
34|

What is Paradox of Thrift? Explain such paradoxical result.

Paradox of Thrift &2 @3 R4 ﬁ@T*f"i‘f TP qIIRYT A

Discuss Keynesian Theory of Liquidity Preference.

PRI O AT OQs A F |

curve and the IS-LM equilibrium.
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(5x4=20)

(10x1=10)




